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Solve for x. Assume that lnes which appear tangent are tangent.
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Geometry
Chords in Circles
Salve for x. Assume that lines which appear tangent are tangent,
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Find the measure af the line :nﬁhﬂlhhﬂ. Assume that lines which appear tangent are
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Solve for Ilﬁ Solve for x,
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Secants and Tangents

Selve foi . Assume that lines which appear tangent are tangent, f\\’d \ L.\
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Find the measure of the line segment indicated, Assume that lnes which appear tungent are
ngent.
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Find the length of the sepment indicated. Round vour answer fo the nearest tenth if necessary,
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Solve for x. Assume that lines which appear tangent are tangent,
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